
 

UNIVERSAL SADDLE STORAGE GEN 2   

Installation Instructions Stock No.: 4412 
 

Please read and understand these instructions completely before installation to avoid injury to yourself or damage to the vehicle 
or accessory. 

 

Dealer: These instructions contain important information for future reference and must be given to the customer at time of purchase or 
upon completion of installation. 

 

Parts List: 
 

ITEM PART NAME DESCRIPTION QTY. 

1 Saddle Box UTV Saddle Storage Box 1 

2 U-Style Nut M6 U-style nut (Rhino mounting only) 2 

3 Screw M6 x 25mm lg. hex head cap screw,  stainless  steel 2 

4 Washer 1/4” x 1.00” O.D. fender washer,  stainless  steel 2 

5 Washer M6 lock washer, stainless steel 2 

6 Nut M6 nylok nut, stainless steel 2 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Image A Image B Image C 
 

Instructions for installing UTV Saddle Storage Box to a Yamaha Rhino (see opposite side for installing on other vehicles): 
 

1) Remove the rear fender to access the dump bed as shown in Image “A”. The plastic fasteners used on the Yamaha Rhino require a 
very light force to unscrew and remove with a Phillips head screwdriver. 

 

2) Place the UTV Saddle Storage Box as desired and mark the hole locations to be drilled as shown in Image “B”. Be careful not to 
locate the box where it may cause problems with tilting your vehicle’s bed. 

 

3) Remove the box and drill the marked locations using a 5/16” diameter drill bit as shown in Image “C”. 
 

4) Attach the supplied M6 U-style nuts 
to the corresponding mounting holes on 
your vehicle as shown in Image “D”. 

 

5) Replace the rear fender and associated 
hardware. 

 

6) Return the UTV Saddle Storage Box to 
the mounting location and secure with 
the supplied M6 x 25mm lg. hex head cap 
screws, M6 lock washer, and 1.00” O.D. 
fender washer as shown in Image “E”. 

 

7) Repeat this process for mounting 
the UTV Saddle Storage Box unit to 
the opposite side of your dump bed. Image D Image E 

 

8) Maintenance and Care: Tighten all hardware after first use and periodically thereafter. 
 

Failure to follow these installation instructions completely may void any warrantable components and result in 
! WARNING property damage or personal injury. NEVER operate or transport UTV with unsecured cargo. NEVER use this product 

or any part of it for pulling or towing. 



Instructions for installing the UTV Saddle Storage Box to other vehicles: 
 

1) Position the UTV Saddle Storage Box as desired and mark the hole locations to be 
drilled in the unit. Be careful not to locate the box where it may cause problems with 
tilting your vehicle’s bed. The Saddle Box should be mounted in a similar fashion as 
described in the Yamaha Rhino installation instructions, but the U-style nuts will not be 
used. Additional fasteners may be mounted as shown in Image “F”. 

 

2) Remove the box and drill marked locations using a 5/16” diameter drill bit. 
 

3) Return t h e  UTV Saddle Storage B o x  to it’s desired location and mark and drill 
corresponding holes in dump bed. Additional screws may be added to the side walls 
of your dump bed as shown in image “F”. 

 

4) Return t h e  UTV Saddle Storage Box into position and secure with the supplied 
M6 x 25mm lg. hex head cap screws, M6 lock washer, and 1.00” O.D. fender washer. 

 

5) Repeat this process for mounting the UTV Saddle Storage Box unit to the opposite side of your dump bed. 
 

6) Maintenance and Care: Tighten all hardware after first use and periodically thereafter. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Image  F 

 

! WARNING 

 

Failure to follow these installation instructions completely may void any warrantable components and result in 
property damage or personal injury. NEVER operate or transport UTV with unsecured cargo. NEVER use this product 
or any part of it for pulling or towing. 

 
For additional assistance, please contact our customer service department at: 
Kolpin Outdoors, Inc.  | 2 0 5  N. Depot Street | F o x  Lake, WI 53933   | 1 . 8 7 7 . 9 5 6 . 5 7 4 6    | customerservice@kolpin.com 

mailto:customerservice@kolpin.com

